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20089 =& 3 3 LUSIH JILZAKBAMS AL ~ ISEAXFAS
A IS AKX AN &
ZE: JISEANEAE XI&
SR JISZANEASY E2 (etel: =3
SN ISR (SH) - HAS 0 & 24 p/E-T" HRE2
IS AKX &AL A& 120,690 151,842 A 31,152
= 39,000 39,000 0
i 81,690 112,842 A31,152
I AIHE ALY K& 94,883 125,223 A 30,340
= 39,000 39,000 0
= 55,883 86,223 230,340
JIHZAINEAMNSY 22 55,730 61,220 A5,490
= 19,000 19,000 0
= 36,730 42,220 A5,490
JIHEAINEASE EE22 M 15,300 20,790 A5,490
201 LEH2HH| 15,300 16,290 A990
01 AtSR22/Hl 15,300 16,290 A 990
Oolger=gtl] 15,300 16,290 2990
OJIEEA =& St 2 23 03 0 990 2990
401 A EHIL 204 0 4,500 A4,500
04 Al&HI 0 4,500 24,500
OJISEA HEAMBHE SEE X
23 0 0 4,500 24,500
I AIHE ALY & 43t 39,153 64,003 A 24,850
= 20,000 20,000 0
= 19,153 44,003 A24,850
ST A ALY FRIoA-E - HEWR 4,180 9,778 A5,598
201 B3| 1,610 7,208 A5,598
01 AtR 22l 1,610 7,208 A5,508
OJNYZANZTFIAS BIOFH 4T
Z& 70,0008 = 232 1,610 7,208 A5,598
JIHEA WE - =Y NE - &S 3,000 8,400 A5,400
401 Al&HI LS04I 0 5,400 25,400
04 Al&HI 0 5,400 A5,400
OJISEAl =8 - HIEXS S0t 2HE X
238 0¥ 0 5,400 A5,400
IS AIDHEALY D18 11,973 25,825 A 13,852
202 (4Hl 3,471 5,971 22,500
01 =AY 3,471 5,971 A 2,500
Od& JIPAl AIEXIS HIXI0HY JE 0 0 2,500 22,500
301 LetEas 8,502 19,854 A11,352
07 212te1=2 ¢ H| 7,373 9,000 N1,627
OJIgEAI=S #IX
1,843,250 * 492! 7,373 9,000 A1,627
08 2API=H 0| 0 7,200 AT,200
OJHAZAT =& &9 38 0¥ 0 7,200 AT7,200
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